Questions you might see on the Final.
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Find phonetic properties (see midterm). You will be provided with the IPA
chart on the final.
Vocabulary: matching (see midterm)
Identify different alphabet types.
Identify roots, plus whether it is formed off of the past/present participle, or
root (see midterm).
Given Latin or Greek structures, prefix(es) + root + various morphological
pieces + suffixes, derive the English word or a nonsense word (see midterm).
ex.ex +lig+e+t answer: elicit
Given an English word of Latin origin, come up the underlying structure by
breaking it down into its morphological pieces (see Assignment #2).
Example: convenient = con + ven + i (long ‘i’) + e + nt.
Given a French word, identify the process that has occurred.
Short answer (see Midterm).
Multiple choice: given a word, have to indicate which rules apply (see
Assignment #2).

10. Germanic Consonant Shift (see Assignment #1 and Midterm)



